DHHIFHED2 XiMp9 WHIEME

H1DEE [1RKXEBOFEE]

RDHEZLE S,
D 6xx2

ROFEELES L,
D 2Ax—2)+33x+1)

® —6(2y—5)+8y+1)

@

(—4x) X5

(—y+3)X7

—(12y—20)

3a—6

—8X

4x—6)—2x—5)

Ligy—a—L6y+9)



DHBHITHEDR2 XMp9 HFEME BE

H1DEE [1RXEHBOFEE]

(1] &Z
D 12« ® —20x ® —2x @ —Ty+21
® —-2y+1 ® 9y—15 @ 6a+3 —6a+12
fig &

ENDDIRKX EHDFEE, HES LOBIIXFEN TS,
EMN2DODIRK EHMDTREIE, DEEAZE->THET 5.
DO ELERXDDFE, 120FELEFYEAT, Moz D2 TEHET S,

@D 6xx2=6xX2xx=12x
@ (—4x)X5b=—4X%x5Xxx=—20x
1 1

@ —8x)(z——8><z)(x——2x
@ (—y+3)XT=(—y)XT+3xT=—Ty+21

1 1 1
® (4y—2)><<—7>—4y><<—§>—2x<—7>——2y+1
©® S(12y—20)== x12y—>x20=9y—15

4 4 4

@ 20;1><9:<2a+—31>x9:(2a—|—1)><3:2ax3+1><3:6a+3
—8X% 3a4_6 = _SX(fa_& =—2X(3a —6)

=—2X3a—(—2)X6=—6a+12

2] &x
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D Ax—2)+33xr+1)=22—4+9x+3=2+9xr—4+3=11x—1
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